
F314 Linear Algebra: Quiz 8 March 29, 2024

Name:

1. Suppose A is an invertible n × n matrix and that some generous person has provided
a QR factorization, so Q is an orthogonal matrix, R is upper triangular matrix with no
zeros on the diagonal, and A = QR. Given an n-vector b, state the two steps needed to
solve Ax = b for x using the QR factorization.

2. Find a right-inverse for the matrix

A =
[
1 3 5
2 4 6

]
.
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3. [Extra Credit] Use your right inverse from the previous problem to solve Ax = b with
b = (2, 4)
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